
03-04-2020

for
Mini Greenhouse

0,93x1x0,38m

Manual



 

Assembly instructions
 
Size: length: 100cm; width: 93cm; height: 38cm 
Detail list: 
 
No. Name 

Quantity 
pcs 

1. Corners (to the ground ) 4x4x50cm 4 
2. Side profiles 88cm 4 
3. Front and hood profiles 95cm 6 
4. Hood carcass curved parts 83cm 3 
5. Polycarbonate connection profile PC-H 96cm 1 
6. Transparent gaskets 25 
7. M5 35 bolts 26 
8. Hinges 2 
9. M5-12 bolts with inserted head 54 
10. M5 nuts 80 
11. Polycarbonate cover for hood 50x96cm 2 
12. Polycarbonate cover for sides 39x90cm 2 
13. Polycarbonate cover for front 31x97cm 2 
14. Polycarbonate sealing tape 6m 
 
ASSEMBLING:  
1. Preparing of polycarbonate. 
Sheets are with protection film. The side with the film without notes you need to put inside and the side with 
notes – outside. NOTE: Before assembling remove protection film. At the edges of polycarbonate that is open 
put the sealing tape (nr.14). On the top hood (nr.11) - at both sides. 
2. Front and back parts assembling. On corner (nr.1), bolts M5-12 (nr.9) with screws M5 (nr.10) install front 
(nr.3) and side (nr.2) profiles thru polycarbonate cover. Profile prominence (omega profile prominence) is 
oriented at inside of seedbed. NOTE: Remove all protection tapes from all profiles before assembling. At 
side and front parts, Polycarbonate sheets are attached with gaskets (nr.6), bolts M5-35 (nr.7) and screws M5 
(nr.10). 
3. Assembling of the hood. On hood crossbar profile (nr.3) curved parts are attached with bolts M5-12 (nr.9) 
and screws M5 (nr.10). Attach hinges (nr.8) on hood with bolts M5-12 (nr. 9) and screws M5 (nr. 10). 
4. Hood connection with box. 
Attach hinges with bolts M5-12 (nr. 9) and screws M5 (nr. 10). 
5. Polycarbonate attaching on hood. 
Polycarbonate cover for hood (nr. 11) are connected with PC-H profile (nr. 5). The cover is left protruding in all 
directions and is attached on hood with bolts M5-35 (nr. 7) gaskets (nr. 6) and screws M5 (nr. 10). 
Seedbed is ready to stick it into the ground. 

If you have more questions contact your supplier. 



Contact information

Head office:
Dancover A/S
Nordre Strandvej 119 G
3150 Hellebæk
Denmark

For more information
please visit:
www.dancovershop.com

National contact

Denmark: 70 26 76 20
denmark@dancover.com

UK: 020 8099 7570
uk@dancover.com

Spain: 911 436 828
espana@dancover.com

Italy: 02 479 21 198
italia@dancover.com

Germany: 041 0266 7040
germany@dancover.com

Switzerland: 0840 000125
schweiz@dancover.com

France: 0975 181 800
france@dancover.com

Austria: 0662 626935
austria@dancover.com

Sweden: 040 233 262
sverige@dancover.com

Finland: 0 931 581 720
suomi@dancover.com

Nederland: 0 858 880 524
nederland@dancover.com

Poland: 22 300 8602
polska@dancover.com

Ireland: 0 151 33 003
ireland@dancover.com

Luxembourg: +49 041 0266 7040
luxembourg@dancover.com

Portugal: 308 800 899
portugal@dancover.com

Belgium: 0 28 08 08 09
belgique@dancover.com

Norway: 231 00 690
norge@dancover.com


